I can use my knowledge of multiplying and dividing by 10, 100 and 1000 to solve word problems. 
1. Lily has 2630 trading cards.  She gives one tenth of the cards to her friend, Ava.  How many cards does Ava get?

2. There are 92,000 paperclips ready to be packed into boxes.  Each box contains 1000 paper clips.  How many boxes could you fill if you used all the paper clips?

3. The female giraffe ate 965 leaves and the male elephant ate ten times less. How many leaves did the male elephant eat?

4. Sophie raised £4357 for charity.  She wanted to split this amount between 100 charities.  How much would each charity receive?
5. The population of The Gambia in Africa is approximately 1.7 million people. About ten times fewer people live in Telford in the UK? Estimate how many people live in Telford.
6.  A tin of baked beans cost 38p.  How much do 1000 tins cost?

7. Mr Bulat has loaned money to buy a car costing £7892.  He pays off £78.92 per week for the car.  How many weeks does it take him to pay off the loan?

8.  100 packs of nails cost £56.  How much does one pack cost?

9.  It costs £25.50 to feed a dog for 1 week.  How much would it cost to feed the dog for 100 weeks?

10.  A man paints 38 cm of wood in one minute.  How much would he paint in 100 minutes? Give your answer in metres.

11.  A roll of ribbon is 780 cm long.  How long is this in a) millimetres? b) metres?
12. If a man pays £69 for petrol and petrol costs 69p per litre, how many litres has the man bought?

13. A school fete charged an entry fee of 20p.  If they made £200 on this fee alone, how many people went to the fete? 

14.  Christmas decorations cost 92p each.  How much would 10 cost? 100 cost? 1000 cost?

15. A woman pays 55p to get to work on the bus and 55p to return home.  How much would this cost her for 10 days worth of travel?

16.  A group of ten friends went for a meal.  The bill came to £562.60.  How much would each friend pay if they shared the bill?
17. Here are the answers to some questions.  Can you write three different questions for each number that could make these numbers by multiplying and dividing by 10, 100 or 1000?

               5890

40

67,000

2000
18.  David has £35,700 in his bank.  He divides the amount by 100 and takes that much money out of the bank.  Using the money he has taken out, he spends £268 on furniture for his new house.  How much money does David have left from the money he took out? How much does David have overall? Show your working!

Answers

1. Lily has 2630 trading cards.  She gives one tenth of the cards to her friend, Ava.  How many cards does Ava get?   263
2. There are 92,000 paperclips ready to be packed into boxes.  Each box contains 1000 paper clips.  How many boxes could you fill if you used all the paper clips? 92
3. The female giraffe ate 965 leaves and the male elephant ate ten times less. How many leaves did the male elephant eat?    96.5
4. Sophie raised £4357 for charity.  She wanted to split this amount between 100 charities.  How much would each charity receive?  £43.57
5. The population of The Gambia in Africa is approximately 1.7 million people. About ten times fewer people live in Telford in the UK? Estimate how many people live in Telford.   170,000
6.  A tin of baked beans cost 38p.  How much do 1000 tins cost?    £380
7. Mr Bulat has loaned money to buy a car costing £7892.  He pays off £78.92 per week for the car.  How many weeks does it take him to pay off the loan?    100
8.  100 packs of nails cost £56.  How much does one pack cost?    56p
9.  It costs £25.50 to feed a dog for 1 week.  How much would it cost to feed the dog for 100 weeks?    £2550
10.  A man paints 38 cm of wood in one minute.  How much would he paint in 100 minutes? Give your answer in metres.    38 m
11.  A roll of ribbon is 780 cm long.  How long is this in a) millimetres? b) metres?   a)7800 mm b) 7.8 m
12. If a man pays £69 for petrol and petrol costs 69p per litre, how many litres has the man bought?    100
13. A school fete charged an entry fee of 20p.  If they made £200 on this fee alone, how many people went to the fete?     1000
14.  Christmas decorations cost 92p each.  How much would 10 cost? 100 cost? 1000 cost?    a)£9.20   b)£92    c)£920
15. A woman pays 55p to get to work on the bus and 55p to return home.  How much would this cost her for 10 days worth of travel?      £11
16.  A group of ten friends went for a meal.  The bill came to £562.60.  How much would each friend pay if they shared the bill?     £56.26

17. Here are the answers to some questions.  Can you write three different questions for each number that could make these numbers by multiplying and dividing by 10, 100 or 1000?

               5890

40

67,000

2000
                    Various answers

18.  David has £35,700 in his bank.  He divides the amount by 100 and takes that much money out of the bank.  Using the money he has taken out, he spends £268 on furniture for his new house.  How much money does David have left from the money he took out? How much does David have overall? Show your working!     a) £89   b) £35,432
